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11T MISRASEX 1,548,079 1,303,495 244,584
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OALINZEE 24 230,000,000& * 6 A 1,380,000
Loldxtel XA (S XAl 396,876 414,020 AT7,144
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= 474,000
= 47,400
Al 426,600
11T A EXAIEEX 948,000 912,450 35,550
OLoldXe2d (U (PAERAS )-H X ot
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02 23=24gHl 50,000 0 50,000
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50,000, 000& 50,000
HOIEEE =&8S Xl 30,000 0 30,000
201 Let2d ] 30,000 0 30,000
02 2324l 30,000 0 30,000
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ZEESLEE ALE 10,000 0 10,000
301 et a3z 10,000 0 10,000
MIIEE43 10,000 0 10,000
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FHAE 29 300,000 300,000 0
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01 A& H| 500,000 421,000 79,000
O242 X 0l&y| 500,000, 000& 500,000
Y MHatEBd =8 X903 28 FoU=JAASH| 300,000 0 300,000
X<
401 A& HI L 2 0HHI 300,000 0 300,000
01 A& HI 300,000 0 300,000
OJIEsts&d F=0=JAZEHl 300,000,000& 300,000
PRI RCIR==-DN =] 65,918,423 55,943,887 9,974,536
= 34,225,055
= 5,961,204
Al 25,732,164
ORI =EX] J|BtXH 40,953,723 36,657, 142 4,296,581
= 22,363,680
== 3,847,722
Al 14,742,321
HojelA= 11,145,600 10,718,285 427,315
= 7,801,920
= 1,003,104
Al 2,340,576
301 et A= 11,145,600 10,718,285 427,315
= 7,801,920
= 1,003,104
Al 2,340,576
01 Al E & A 462 11,145,600 10,718,285 427,315
OXMAZ X2 11,145,600, 000 11,145,600
= 7,801,920
= 1,003,104
Al 2,340,576
MO (IIxX) 1,406,717 1,437,060 A 30,343
= 984,702
= 295,411
Al 126,604
301 et A= 1,406,717 1,437,060 A 30,343
= 984,702
= 295,411
Al 126,604
01 Al E& A 462 1,406,717 1,437,060 AN 30,343
OXHMHLEE(II=x) 1,406,717 ,000& 1,406,717
= 984,702
& 295,411
Al 126,604
O (XA S) 1,191,424 1,358,817 A 167,393
= 833,997




2N
X ZH -
L= B

el

CoIEof el
ZojoI=R P
ZOHOIS R JIBHE A

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

= H

250,199
107,228

= M W

1,191,424
833,997
250,199
107,228

1,358,

A 167,393

1,191,424,000&

= N W

1,191,424
1,191,424

833,997
250,199
107,228

1,358,

N 167,393

ZOHw=Hl X

Al

110,500

44,200
66,300

82,

300

28,200

307 glztol &

H

Al

110,500

44,200
66,300

82,

300

28,200

1A SXAIE 2 =

OFMAWSHIXI&

110,500, 000&

= M

110,500

110,500
44,200
66,300

82,

300

28,200

U RPN E RSy AR

= N W

1,321
1,058
184
79

,975

N 18,654

= N H

1,321
1,058
184
79

,975

N 18,654

1,321,000&

=z M H

1,321

1,321
1,058
184
79

,975

N 18,654

HAFXI &

93,000

70,

500

22,500

307 21201 A

93,000

70,

500

22,500

o
~
e
S
0%
>
>
it
H
P

o ©
oy
- 2
0H e
2 o Io
O |0
S Lo
- nc
oo
e >

©

©
<
k= w

o or

EJ
O
Ho
fol

SRS
ton
0
e
(wm)

© 0 O
o
I
o
é
oo

=

02
>

o
02
>

>
02
0z
2
re
ny
S
02

HOIl = Al

20,000,000& = 13l
4,500,000& = 12
6,000,000& = 13l

At
4,500,000& = 13

3,000,000& =+ 13l
4,000,000& = 12
3,000,000& =+ 13l

02

93,000
20,000
4,500
6,000

4,500
3,000
4,000
3,000

70,

500

22,500




A el Zoel
Hm: ZojoI=R PE
Sl ZojeI=X JIBEs (B9 ®R)
5 - 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OAIZZ el =XICHS 3,000,000& = 13l 3,000
oOFMe=Esne 12,000,000& * 13l 12,000
OWES AL =011 HA 3,000,000 =+ 13l 3,000
OFM 2HBNE 20,000,000& = 13l 20,000
OFOHIIIRH 10,000,000& « 13l 10,000
ZoelAAEBS A 383,700 348,860 34,840
201 Let24] 34,500 0 34,500
01 At 2t 2l 34,500 0 34,500
OZMLA=SXNE FASLZ N (S & 7
ol g) 3,000& = 7,500A 22,500
OXMAXNSADEECZE SHE &0 &2
H S 4,000& = 3,0000H 12,000
307 glz2tol & 349,200 348,860 340
11T M ZXASEEX 349,200 348,860 340
OXHOHAUEH Set2dst X
75,200,000 = 10H A 75,200
O=stua 29 6,000,000 = 10H 4 6,000
OMIGIEHA W NEANE 29I
74,000,000 * 10024 74,000
OZOMAEBEHT A/SAHY 2
30,000,000 = 10024 30,000
OFMU=SHEH 2¢ 40,000,000& = 10H 2 40,000
OUTFHOML XEOSMY 2

15,000,000& = 100 15,000

,000,000& = 100 3,000

10,000,000& = 100 10,000
OBTAIEAAX &2FAEY 500,000 * 123 6,000
OFFANZOHAINSIAAS
75,000,000 = 14 75,000
OZOMAXMNATNALE S BAX HS2ASALY
15,000,000& * 12l 15,000
OISR A O K& 6,000 6,000 0
301 gEtE A= 6,000 6,000 0
09 AL HI B A= 6,000 6,000 0
OZXOo0tetEHal &Il 50,0002 * 40 2,000
OFAMXAC =XCHE AL
50,000& * 40 2,000
Od=XHMETOHE A IO HI
50,000& * 40 2,000
ZOHAANFAIE EAX NHEHES X 28,000 28,000 0
[ 11,200
Al 16,800




M Lol &0H el It
Hm: ZojoI=R PE
Ce: SR JlEtx Y (2 &HH)
4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
301 Bt A= 28,000 28,000 0
== 11,200
Al 16,800
01 AR E & A 462 28,000 28,000 0
OHEMAUAHNZ=AAY EAX ANSHEHEZ XA
28,000,000 28,000
&< 11,200
Al 16,800
HOHHF=AIE HAHE 2SS HEH S KNE 9,800 9,800 0
= 3,920
Al 5,880
307 2Iz2t0| & 9,800 9,800 0
= 3,920
Al 5,880
11T AISIEXAIE EX 9,800 9,800 0
OHEMAUAHNF=ANYE BAE 23 EH E NA
9,800,000& 9,800
& 3,920
Al 5,880
MHOIAQHe HMDNIFRI|I & AlE2H 140,000 140,000 0
= 42,000
Al 98,000
307 212t0| & 140,000 140,000 0
o= 42,000
Al 98,000
10 M SXNANEEHESIHEX 140,000 140,000 0
OMQIEME BMDKIIT 2AT
140,000,000 140,000
= 42,000
Al 98,000
Hoolws, XS AIJAY 153,400 123,400 30,000
307 212t0| ™ 153,400 123,400 30,000
A EXAEEX 153,400 123,400 30,000
SUAXNSHEH 29 10,000,000 = 1JH A 10,000
OHMQ R EHLNE 2¢
800,000& = 1A + 12& 9,600
Os0lesx2na 29 20,000,000& * 1JH A 20,000
oL 22 2
4,800,000 * 1JHA 4,800
OXMOlsS HESD &9 3,800,000& = 23| 7,600
O&MIIE HAHE SISXJAYE 89
38,000,000 * 1= 38,000
OHMXH 2t: BEsxz)d 29
1,200,000& = 10HA + 12&€ 14,400
OA2EHS BXNUEAIE 24
4,000,000& = 1JH 2 4,000
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2N

Lol
X K
(=R B o

&0

=
i

2

20,000

25,000

H

Al

20,000

6,000
14,000

20,000

307 21201 &

f

Al

20,000

6,000
14,000

20,000

ARSI S XA E X
ol

O=THML R34 20,000,000

H

Al

20,000
20,000

6,000
14,000

20,000

ANZEMHINE JtAXISE IS K& ALY

H

Al

8,400

4,200
4,200

8,400

307 21201 A

H

Al

8,400

4,200
4,200

8,400

A S XAIE E =

OAZZEOHC DFAXRSSE I X
8,400,000&

=

8,400

8,400

4,200
4,200

8,400

gojelezs X&

= MW

339,241

271,392
47,494
20,355

352,000

A12,759

307 21201 A

= MW

339,241
271,392
47,494
20,355

352,000

A12,759

01 =472l

oo =Hl X& 339,241,000&

Z W

339,241

339,241
271,392
47,494
20,355

352,000

A12,759

=z N H

32,251
25,801
4,515
1,935

29,877

2,374

=z N H

32,251
25,801
4,515
1,935

29,877

2,374

32,251

29,877

2,374




SAM: ol EOHel Dt
Hm: ZojoI=R PE
Sl ZojeI=X JIBEs (B9 ®R)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
O&FOMC EXI72 XA 32,251,000& 32,251
= 25,801
< 4,515
Al 1,935
FAZ0e B2 ==X 7,000 3,500 3,500
301 L2 A F 7,000 3,500 3,500
01 MEIBEE 2053 7,000 3,500 3,500
OFLIMHO ABLHOIZ +2N
7,000,000& » 1H 7,000
HEFe ddns X 30,000 30,000 0
< 12,000
Al 18,000
307 glz2tol & 30,000 30,000 0
< 12,000
Al 18,000
11 AISISAAISEE = 30,000 30,000 0
O HBHws XA 30,000,000& 30,000
< 12,000
Al 18,000
G EZOC JtA O AFHXIR 100,000 60,000 40,000
< 7,996
Al 92,004
307 21201 A 100,000 60,000 40,000
< 7,996
Al 92,004
11T M3 SXAISEEX 100,000 60,000 40,000
OMEMHR NHAZR0| ALK&
100,000, 000& 100,000
< 7,996
Al 92,004
OlEFe s4EIE XNA(EX) 30,000 30,000 0
= 21,000
< 2,700
Al 6,300
301 et A3 30,000 30,000 0
= 21,000
< 2,700
Al 6,300
01 MEIBEE 253 30,000 30,000 0
O sE&HIE XA 30,000,000& 30,000
= 21,000
< 2,700
Al 6,300
OISR MH 23 170,000 170,000 0
307 2Iztol ™ 170,000 170,000 0




M Lol &0H el It
Hm: ZojoI=R PE
Ce: SR JlEtx Y (2 &HH)
(o
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
05 QIZ2tR E 2 170,000 0 170,000
OF=A HOCIII=EXNRHMEH2A
170,000,000 = 1JH A 170,000
KX HOAIE ANJHMEH 29 66,000 46,200 19,800
= 3,960
Al 62,040
307 2Iz2t0| A 66,000 46,200 19,800
= 3,960
Al 62,040
10 M SXANEEHESIGHEX 66,000 46,200 19,800
OXMAEOHQHEHOYAILE JII=XNSHH 29
66,000,000 66,000
& 3,960
Al 62,040
XASSEMHC SS2X 24A12 X & 59,603 57,889 1,714
= 17,881
Al 41,722
403 XX SHHS K20 & 59,603 57,889 1,714
= 17,881
Al 41,722
02 BI2SOHUSA=2E S AFEHI 59,603 57,889 1,714
OXZSHMR SSEX 24AI2t XIS
59,603,000 59,603
== 17,881
Al 41,722
IAESZSTPQIESEX IR (EX) 420,317 0 420,317
& 126,095
Al 294,222
403 XX S M S K201 A 420,317 0 420,317
o= 126,095
Al 294 222
02 Z2I|2SOHetX 22 & A HI 420,317 0 420,317
OzxEZEHMAESEX OIS
420,317,000& 420,317
= 126,095
Al 294,222
SSHHCIESKRAMEIA F=OFX K (KA 1,014,912 908,010 106,902
403 XX S M S X201 & 1,014,912 908,010 106,902
02 2| 2SOUHet ==& AFS Y 1,014,912 908,010 106,902
SHEOHC L XA 22 A
8108 * B60AIZ2F = 100H = 12 634,320
O3 HLXAE L XX SZO0N MICH
8,810% » 60AI2 » 60YH = 12€ 380,592
ZOHoIES KA AS 14,596,104 13,947,569 648,535
= 10,217,274
= 875,766
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2N
X ZH -
L= B

el

LS QIEOH Bt
=X 7
Foper=sx oty

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

3,

503,064

403 A XM SXH=0lA

= N W

,596,104
217,274

875,766

,503,064

13,947,569

648,535

14,596, 104,000&

zZ W

,596,104

,596,104
217,274

875,766

,503,064

13,947,569

648,535

Al

20,000

8,000
12,000

10,000

10,000

307 glztol &

H

Al

20,000

8,000
12,000

10,000

10,000

20,000,000&

= M

20,000
20,000

8,000
12,000

10,000

10,000

H

Al

44,403

13,321
31,082

43,092

1,311

403 AXIHHSH=0lA

= M

44,403

13,321
31,082

43,092

1,311

44,403,000

= M

44,403
44,403

13,321
31,082

43,092

1,311

= M W

9,260
4,630
3,241
1,389

13,024

N3,764

= MW

9,260
4,630
3,241
1,389

13,024

AN3,764

s §
=]

01 M BE & 24
=

OZMASSEMNESSE

9,260,000&

9,260
9,260

4,630
3,241
1,389

13,024

N3,764

Nz
na
0z
2
e
Pl
o

30,143
22,080
2,421
5,642

75,540

AN 45,397




2N
X ZH -
L= B

el

LS QIEOH Bt
=X 7
Foper=sx oty

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
307 glz2tol & 11,100 13,500 A2,400
= 8,880
< 666
Al 1,554
11T M SXASEEX 11,100 13,500 A 2,400
O3S=FAMNEHEIHE XA 1,500, 000& 1,500
= 1,200
= 90
Al 210
OSEFAAMHA XA 9,600,000 9,600
= 7,680
< 576
Al 1,344
403 MHXSHHSA=0l& 19,043 62,040 A42,997
= 13,200
< 1,755
Al 4,088
02 I 2S0ICHEt A =& OH & At H 19,043 62,040 A42,997
OLLHMARD delad XF 19,043,000 19,043
= 13,200
< 1,755
Al 4,088
ZOHOts MEXZHH 1,666,748 1,530,261 136,487
= 1,166,724
= 150,007
Al 350,017
403 MtXISH S X201 & 1,666,748 1,530,261 136,487
= 1,166,724
< 150,007
Al 350,017
02 SO 2SS A2 X HE AL B 1,666,748 1,530,261 136,487
OXMOts MEXZHISXH 1,666,748,000& 1,666,748
= 1,166,724
< 150,007
Al 350,017
ALY HIRH AL 8,179 36,525 A 28,346
= 5,725
= 736
Al 1,718
403 MHXSHHSA=0l& 8,179 36,525 A 28,346
= 5,725
< 736
Al 1,718
02 I 2S0ICHEt A == OH & A H 8,179 36,525 A 28,346
OFMOtEs HHELEHISH 8,179,000& 8,179
= 5,725
< 736
Al 1,718
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2N
X ZH -
L= B

el

ni
a5
Jl

021 024 H-
20

o 0
=
Ao

:5:.:
T o

x4 (B9 ®R)

r

SA-3H-S(3AH) - MRAS - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

2 OH

re

SX ERel XS 537,972 482,652 55,320
268,986

80,696
188,290

= N H

307 21201 & 537,972 482,652 55,320
268,986

80,696
188,290

= N H

ARSI S XA E X 537,972 482,652 55,320
OFM=RL Rl XA 537,972,000& 537,972
268,986

80,696
188,290

= N H

0%
S
re
02
04
i
10
=)
=
1%

. 170,846 1,029,059 141,787
585,423
175,627
409,796

= Hn W

101 1Al

—

. 170,846 1,029,059 141,787
585,423
175,627
409,796

= M W

4

, 170,846 1,029,059 141,787

,170.,846
585,423
175,627
409,79

O At 1,170,846,000&

= MW

A2 ZO0HQl CFOFAF TIFA ALY 147,460 114,849 32,611
117,968

8,848
20,644

= N W

307 glztol & 147,460 114,849 32,611
117,968

8,848
20,644

= W

11T M SXAISE EX 147,460 114,849 32,611
OAI2F Z0H 1 OFOF AL T} AH 147,460,000& 147,460

117,968
8,848
20,644

= MW

0
o
o
o
DU
o
i
=)
W

J NdEH 2 116,400 55,200 61,200

46,560
69,840

= M

307 21201 A 116,400 55,200 61,200

46,560
69,840

= M

10 A SAAEHE2SHIEX 116,400 55,200 61,200

_23_




SN ol F ool
Ha: Zojel=x B
SHol: BOHQI=X OlBtEY SeE)
N-Z33.22(3H) - H2AY - BES Ol &F o4 %Eﬁ Hns2
ONNUALAUGENFINALE A
116,400,000 116,400
< 46,560
Al 69,840
Hor=xE 2 2,559,760 964,600 1,595, 160
= 255,976
Al 2,303,784
307 212+0| & 2,559,760 964,600 1,595, 160
= 255,976
Al 2,303,784
NN EEEEETEES 2,559,760 964,600 1,595, 160
OFWASKZ SYX A 2,559,760,0002! 2,559,760
< 255,976
Al 2,303,784
ZALBNE 29 1,399,928 328,560 1,071,368
< 98,757
Al 1,301,171
307 212+0| & 1,399,928 328,560 1,071,368
< 98,757
Al 1,301,171
NN EEEEETIEES 1,399,928 328,560 1,071,368
FZABSAE SYXE 1,399,928, 0002 1,399,928
= 98,757
Al 1,301,171
+3SANE 29 255,063 120,195 134,868
= 25,506
Al 229,557
307 212+0| & 255,063 120,195 134,868
< 25,506
Al 229,557
NN EEEECTIEES 255,063 120,195 134,868
O+3EAUE 2IX 255,063,000 255,063
< 25,506
Al 229,557
ol mEolH 2o 570,504 264,240 306, 264
< 57,050
Al 513,454
307 212+0| & 570,504 264,240 306, 264
= 57,050
Al 513,454
NN EEEEETIEES 570,504 264,240 306, 264
ONNOUMEIE SHX 570,504,000 570,504
< 57,050
Al 513,454
OHQI4 & 0| SXI & HE 2 (01Y) 272,072 161, 150 110,922
< 27,207
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2N
X ZH -
L= B

el

LS QIEOH Bt
=X 7
Foper=sx oty

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 244,865
307 glz2tol & 272,072 161,150 110,922
< 27,207
Al 244,865
10 ALSISXAIEEE 22X 272,072 161,150 110,922
O MEOISXNAd 2F XA 272,072,000& 272,072
< 27,207
Al 244,865
O MIOtS R SALME 2Y 116,075 73,255 42,820
< 6,964
Al 109,111
307 21201 A 116,075 73,255 42,820
< 6,964
Al 109,111
10 ALSISXAIEEE2IHEX 116,075 73,255 42,820
OZOMAMIN=SXSAHEH 2 X2
116,075,000& 116,075
= 6,964
Al 109,111
AM2ZEOe A 23 411,600 360,212 51,388
< 123,480
Al 288,120
307 21201 A 411,600 360,212 51,388
< 123,480
Al 288,120
10 ALSISXAIEEE2FHEX 411,600 360,212 51,388
OEXNZAN2 2HXE 411,600,000 411,600
< 123,480
Al 288,120
ZOHI =R LBE ALE 4,020 1,600 2,420
201 Let249] 2,420 0 2,420
01 At 22l 2,000 0 2,000
OXFMUESXE LLHIY 2 (A2 2&
o) 100,000 = 2H =« 83| 1,600
OFMESXE LUHEH 2Y(AEs 29
Zhl) 50,000& = 83l 400
02 =24l 420 0 420
OMEMAZSE=XME &S
30,000& = 123 360
OMEMAZSE=KME =23
5,000& ~ 12& 60
202 4Hl 1,600 1,600 0
01 = LH A HI 1,600 1,600 0
OZMA=SXAIE N=FHZ Ol
20,0003 = 2% * 20& = 23| 1,600
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M Lol &0H el It
M. ZojoI=N PE
ool MOjQI=R JIBHES CERED
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
HAZOHe DEXF(HsadyH) 50,000 0 50,000
= 35,000
& 4,500
Al 10,500
307 2Iz2to| & 50,000 0 50,000
= 35,000
= 4,500
Al 10,500
11 Al EXAIE B 50,000 0 50,000
OAMEZMe WX (HSHAH)
50,000,000 50,000
= 35,000
& 4,500
Al 10,500
ANE2Y Jletxd 24,964,700 19,286,745 5,677,955
= 11,861,375
& 2,113,482
Al 10,989,843
HOHQI XA HEAIALE JsEX 233,500 0 233,500
401 Al HI L 204 HI 122,500 0 122,500
01 Al&H| 122,500 0 122,500
OFFANEMHASE=EXN2 =
122,500,000 * 14! 122,500
402 SI2FXHE0| & 6,000 0 6,000
01 QIZEXIE2AIE 2 X 6,000 0 6,000
ORXME=EMS M2 2
6,000,000& = 1CH 6,000
405 XHoHFE S HI 105,000 0 105,000
01 XA E B F S| 105,000 0 105,000
OEZANBNASHSNZ 25018 HATY
95,000,000& * 1CH 95,000
OZfI=EX 2 2AZT208 BEXI|I| (3K}
cerz2J]) ¢ 10,000,000& = 14l 10,000
ZOHRIEXAIE AHloIE= 228,606 220,576 8,030
= 160,024
= 20,575
Al 48,007
307 QI2t0| ™ 228,606 220,576 8,030
= 160,024
& 20,575
Al 48,007
10 A SXNANEEHESIGHEX 228,606 220,576 8,030
OXMASXAILZAH 22 (20 A)
228,606,000 228,606
= 160,024
o=} 20,575
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2N

X{ XH -
S =

L
sl

o1 2 0f oI 1t

=

Sl AERY JIBEY (B9 ®R)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
| Al 48,007
ZOHANFAIE 29 15,266,608 12,134,221 3,132,387
= 10,686,626
< 1,373,994
Al 3,205,988
307 glz2tol & 15,266,608 12,134,221 3,132,387
= 10,686,626
< 1,373,994
Al 3,205,988
10 ALl SXAIEEE2EH EX 15,266,608 12,134,221 3,132,387
OFMANFAIE 29 15,266,608, 000 15,266,608
= 10,686,626
< 1,373,994
Al 3,205,988
OIS HFAIE 2 204,432 99,081 105,351
< 20,443
Al 183,989
307 glz2+0l & 204,432 99,081 105,351
= 20,443
Al 183,989
10 ALSISXAIEEE2EHEX 204,432 99,081 105,351
OFMAHIINF=AIE 2LXE 204,432,000& 204,432
< 20,443
Al 183,989
ZHIZSSHEIE 29 1,051,658 470,886 580,772
< 105,166
Al 946,492
307 21201 A 1,051,658 470,886 580,772
< 105,166
Al 946,492
10 AL SXNAIEEE2EHEX 1,051,658 470,886 580,772
OFMH==SHEIE 2HXA
1,051,658,000& 1,051,658
< 105,166
Al 946,492
Her2d FMLH=AIE K& 205,700 205,701 A
= 41,135
Al 164,565
307 21201 A 205,700 205,701 A
< 41,135
Al 164,565
10 ALSISXAIEEHER2IHEX 205,700 205,701 A
OMel2d FeUAHAFAIE XA
205,700,000 205,700
< 41,135
Al 164,565
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SA: SOl Eof ol
Hm: ZojoI=R PE
CHol Al ed JIBEA (crl ®a)

q
x
0

N

A (3A) - NRAY - BES Off &t 24

=

M
2Hm
==
£l
Ol
0y

4N

SESdtA NS EEE £X

Mo
02

30,000 30,000 0

9,000
Al 21,000

H

307 21201 & 30,000 30,000 0

9,000
Al 21,000

H

10 A SAAIEHIESSHIEX 30,000 30,000 0

OE==dtta &g 24X

0

30,000,000& 30,000

9,000
Al 21,000

n

0z
2
re
A
11
==
(Ufor
>
x
Mo
02

5,211,180 2,443,603 2,767,577

278,546
4,932,634

= M

307 glz2tol ™ 5,211,180 2,443,603 2,767,577

278,546
Al 4,932,634

tn

10 A SANAIEHIS2SHIEX 5,211,180 2,443,603 2,767,577
A

OZOMAXNATNEAILE 2SX

4N

0

5,211,180,000& 5,211,180

278,546
4,932,634

= M

O
Ol
0y
2
e
p=|
]
0z
o
rx
(sl
Ho
02
W
kJ

427,500 450,000 A 22,500
171,000

76,950
179,550

= N W

307 glztol & 427,500 450,000 A 22,500
171,000

76,950
179,550

= N W

02

10 A SANAIEHISSHIEX 427,500 450,000 A 22,500
OZSZSZMHAXSHMEHE K& 427,500,000& 427,500

171,000
76,950
179,550

= MW

SESHMHANSHEHEH X (ZH) 150,000 140,000 10,000

60,000
90,000

= M

307 21201 & 150,000 140,000 10,000

60,000
Al 90,000

2l

10 AR SAAEHE2SHIEXR 150,000 140,000 10,000
OZSTHMHAXNSMHEHE XI& 150,000,000 160,000

60,000
Al 90,000

H

AL EANE JIs2S 90,887 614,463 N 523,576
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2N

X{ XH -
S =

L
sl

o1 2 0f oI 1t

=

Chel: AIE2g Dlgtxd (&)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
= 75,473
< 13,633
Al 31,811
402 BIZEXHE 0| A 90,887 614,463 A b523,576
2 45,443
< 13,633
Al 31,811
01 It 2 AL B X 90,887 614,463 A 523,576
OFMMAXMNATHEAA JIs22 (1)
90,887,000 90,887
= 45,443
< 13,633
Al 31,811
FHUNRAANLE 23 1,140,403 1,065, 154 75,249
= 798,282
< 114,040
Al 228,081
307 glz2tol & 1,140,403 1,065, 154 75,249
= 798,282
S 114,040
Al 228,081
10 ALl SXAIEEE 2 H EX 1,140,403 1,065, 154 75,249
OFMNQAANE 2Y 1,140,403, 000& 1,140,403
= 798,282
< 114,040
Al 228,081
ZOHe HMEE =29 28,800 0 28,800
307 21201 A 28,800 0 28,800
11T M SRASEEX 28,800 0 28,800
QUM HNF=AE HES 2FXN
100,000& » 24044 « 12& 28,800
ZOHF2AHESHE X 22 695,426 0 695,426
401 Al B2 28I 695,426 0 695,426
01 A& HI 685,000 0 685,000
OZMLI=2ESHEH AX 685,000,000 685,000
02 Zeldl 8,426 0 8,426
OXHeI=2tESHEH AX 2eltl
685,000,000& * 1.23% 8,426
03 Al& 201l 2,000 0 2,000
OXHeI=2tESHE AX AIE20HI
2,000,000 2,000
HAE2LAZH (- ZO0H ) 48,228 49,588 21,360
Jl2Z3l 48,228 49,588 A 1,360
JlE2&l 48,228 49,588 A 1,360
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LS QIEOH Bt
dH2E I (= FMHA )
Jl=23tl

SN BB (HA) - MM - BES il HREZ
201 ¢er24| 17,068 28,108 A 11,040
01 ArR 22l 17,068 28,108 A 11,040

OJl2gedasH(J12488]) 8,500,000& 8,500
ozgHI(JI=aHl) 8,568,000& 8,568
202 Oddl 18,360 17,280 1,080
01 = LH 4 Hi 18,360 17,280 1,080
OJIEZ 18,360,000& 18,360
203 YR =& 4,200 4,200 0
04 EASEYRFEH| 4,200 4,200 0
OJ|EH (HR302!0[5t) 350,000& * 12& 4,200
405 Xt&tE SHI 8,600 0 8,600
01 AL ESFH SHI 8,600 0 8,600
OMRE 2ATt7 L 300,000& * 174 5,100
OZgHl(2etEE) 3,500,000& * 1CH 3,500
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